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Calc 1

11/17/23

Each
‘N problem ;
o e 1o points. For full credit provide good justification for your answers.
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3. Find the interval(s) where f(x) = 22* + 32® - 361 is concave up.
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4. Find the most general antiderivative of f(z) = Va2 + T\/T.
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5. Use Newton's Method with the function f(z) = z° — 3 and initial value zy = 2 lo
caleulate Iy and Ta.
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6. Find ¢
he absolute maximum and absolute minimum values of f (z) = 2v9-22 o
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7. Biff is a calcul
. u
s student at Enormous State University, and he’s having some trouble.
int stuff, right?

Biff sa g ¥ y

And t}{erehgvz? ttl}llll: gilcuhﬁs stuff is tough, We're doing this critical pol

one and it was a max e‘wh f;re there were two critical points, and I checked the first

[ marked that on the’ rig t.. So I figured the other one was automaticglly fl mip and

process of elimination ?nswel sh,eet, but they said it was wrong. [sn't it, like, just a
ike that?”

Explain i
plain clearly to Biff what he can and can't conclude about a second critical point

on iy )
ce he knows one critical poin is a maximum.
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8. [WWJ A box is to be made out of a 12 cm by 18 cm piece of C&r; boal;ld;sisgl?vri‘lef ?())Z
side length & cm will be cut out of each corner, and then the ends an !

folded up to form a box with an open top. Find the dimensions of the box with the
largest possible volume.
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the first quadrant

9. Find the dimensions of the largest rectangle that can fit in
y=12 — %:1:.

! LC

=12 = 3
AZay 2

A= (12-220 -

-
AR 129 347
R S

A b\)_ \2 3 x21

e e e

O = 1\2 - 31

INnz=\12
Mn-=-Y

—

9= 12-3xn2 ,/;,/,olv"/'

. The dimensions ave, (4,6)

—




10. For what values of the constant b does the function f(x) = 227 + bz* + 10z — T have
both a local maximum and local minimum point?
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